(0TTV12 Version 1.2)
(Q-Save )
(OTTVEE, Version 1)
(OTTV & RTTV Calculation 1



1 16 WWR 0.2
0
41 1
3
41 1
OTTvi2  Q-Save  OTTVEE  OTTV & RTTV
50.1 50.13 50.17 50.16
58.0 5548 55.52 55.52
54.9 54.04 54.07 54.07
43.5 43.28 4331 4331
OTTV 50.9 50.12 50.16 50.16

RTTV 49.6 49.84 49.84 49.84
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2 20 WWR 0.24
0
44 2
3
42 2
OTTvi2  Q-Save ~ OTTVEE  OTTV & RTTV
34.6 34.37 34.37 34.37
59.9 59.53 59.53 59.53
51.3 51.08 51.08 51.08
50.3 49.06 49.06 49.07
OTTV 491 48.63 48.63 48.63

RTTV 44.8 44.94 44.98 44.98
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3 24 WWR 04
45
47 3
3
43 3
OTTV12 Q-Save OTTVEE OTTV & RTTV
50.7 4991 50.06 50.09
62.6 58.69 58.71 58.70
59.2 58.14 58.16 58.16
529 49.56 49.60 49.58
OTTV 56.2 54.08 54.13 54.13

RTTV 49.6 49.84 49.84 49.84
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	บทที่ 4 การทดสอบโปรแกรม

